23

HAMAMATSU

HREFELICEETD
BEEX—H—,

ZTOREFEVLLE"DOAN"S
EHEEBATT,

HiE[ZoA] s2x2—K ):IL[—[—[ =

19094%9A15H (1045%) AEBRSH REOKEREFHSH) £3h

=HEUTHELLWH

HONDA®D I % ¥ 2[‘(

19065118178 (E£845%) EHEEBNHN GREOKEXILR) £3h

BN 399%D FeHki
2671 %1

— R RDHR 2| s 1
7oA M T3 - AU, HEhE
BHED»I:HLLHLZ Y IV
FIETF L. 194648/ N 2 v v
FEHEBHE R R | 2BI%, 2
D% =V IV D LHEARITOT
TREMELIZA =S4 FY =05
(194948) IR [A—b =4 7 =
(19584F) | izt h HE L, iR
by 7 DHGE A—H—IcF T EY
2 DTN T B b

Sl

[1ZA7:290H57]

BRI ZKEEI-J——EI%OJOUMW?@E

D FIEYF 2 2B, BRI A [ RV TAZ L] LRSS Fx vy IREMI S L7 7 v 5% w0, 312

[Frry ILTRBERNL IS MHLLCILZENS | v o DAF IS
13 19894EHANE LTS TREIQHBHBEAY L2 ZLTYE 4,

V$E%‘~E%0)O“<Dﬁ:7¥<ﬁ“ﬁ'

(GRASEI D)

3572

KREHEOMRAMFI LT, LH 7= 7 VT —ZDEADH, 1960412 H K L. 72AY 2 TOD
AK—Y B —BROFERPF R [ 2o Zh— | OBEFE - BFE 125 T, 196946 7Y H T
1005 BUL EQKey b 2Etsk L7z, HATY [ 7= 7 v 74 —2(S30) | 04 CTHOGE S . HA
DFEBAK—Y H—LLTALBEINTV5,19984E HAHEFH O A AF=T7LLTDOIhHE
Dptflis . HRA T4 ANBL L 2 KEQEB BB A, H1E, = v =7 DAL COBE A
NIIEFNHG7E 572, 10438 L7 > 12 BUE IR HEART R 6 3w A Kl ] £ LTHITCOPRIGE)
IZHEH, 77 v 0 LAV R D G BR 1213 [Live life,love cars] DEE»H 26N B %),

20104 A —7 v, 1§ 8F - A HFE— DA ST LD T REHD
ERER N TERCON2 R LTRSS > LIERS T2, B
LI DA — s 4R Hy b2y OV KHSE— DS o
Y —FRFEERDB 4 R, D D 2 YN EHI TS
NI & (H OB KAL) 2 8E L 120,

B053-477-4664

R REXRITZR1112 E710:00~16:30 (A - KEEEN) XHHDIFE (AR BRI

AR BIRRBMERIZARL  http://www.honda-densyokan.com

RO P) DR IAT 2R
K'z ROAD (/—2xu—F)
UL G e R0 2 £0) T T SAE A B2 25— L

FEHIRD 22 Z3 U 2 RIETE2300F 747 2 -2, KH
RO O—fEEIRBEINT V5,

[Fana—2)EFsndCARETO,HEHRL2—2

[PLlisa—z]lur<vvaysyy 7a=—((RENITO ARHa—2

[5 & 132 —2IPAEMHE (L) 2T O, ILH#—E= —=

RSB, E A= — DAL GH

VZ}“ —)VFZ— in K'z ROAD

A= H— DR DA ST bhs 'y
A=wEFI—(HE 27797 h—) AV b, ==TEhD4LH

T F =L ENEB LA CHA, ZED CABOFH TSN
FTAABS A VT — S v —Fld— ROl H Y !
=15/ BHSNHL AR RN R EXEFATHER145-1)

ABER XA ISMEBRIBEHRAIDE

&€,/ F—ILFh—inK'zROADE{TEESR http://kzroad.jimdo.com/

biEH 4L 2, BB HIZ LT

RIS T=T I V=,




